CCNA3 Module 4

1. What does this module describe in detail?

2. What are layer 1 devices?

3. Mention two advantages and two disadvantages of hubs.

4. What are layer 2 devices?

5. Based on what does layer 2 device make forwarding decisions?

6. What allows switches to make maximum utilization of the available bandwidth?

7. What are layer 3 devices?

8. Based on what does layer 3 make decisions?

9. What are the factors that impact network performance?

10. What are the factors that negatively affect the performance of a shared medium Ethernet/802.3 LAN?

11. What is a half-duplex technology?

12. What results in a collision in a half-duplex devices?

13. What should we do to relieve network congestion?

14. What is latency?

15. What are the three sources of latency?

16. What is bit time or slot time?

17. What is the transmission time?

18. Do the interactive activity on page 4.1.7.

19. What is attenuation?

20. What is the good point of a repeater?

21. What is full-duplex?

22. What are the advantages of full-duplex Ethernet switch?

23. What are segments?

24. What is the advantage of segmentation?

25. What is a bridge and what is considered as?

26. What do bridges and switches provide?

27. What do routers provide?

28. Why do switched Ethernet LAN provide a lot more throughput than Ethernet LANs connected by bridges or hubs?

29. What are the advantages of switches?

30. What is switching?

31. Explain the basic operations of a switch. (figure 2 through 6 on page 4.2.5)

32. What is switch latency?

33. What is the difference between layer 2 and layer 3 switching?

34. What is the major difference between layer 3 switches and routers?

35. What is symmetric switch and what is asymmetric LAN switch?

36. What is memory buffer?

37. What is port-based memory buffering?

38. What is shared memory buffering?

39. What is Store-and-forward?

40. What is Cut-through?

41. What is Fast-forward?

42. What is Fragment-free?

43. What is a switch?

44. How do switches learn which  hosts are connected to a port?

45. How do we understand that high-performance LANs are usually fully switched?

46. What are the main features of Ethernet switches?

47. What does the first feature do?

48. What does the second feature do?

49. Understand the full meaning of the following terms: cut-through, fast-forward switching, fragment-free switching, store-and-forward and adaptive cut-through.

50. What does ”learning” mean?

51. How do bridges and switches learn?

52. How is switching table stored?

53. What is CAM used for?

54. What does CAM store?

55. How does an Ethernet switch learn the address of each device on the network?

56. What happens if a source is not found in CAM?

57. Explain how CAM maintains an accurate and functional forwarding database. (three processes)

58. What is filtering and what is forwarding?

59. What does basic filtering do?

60. What actions does filtering on specific source and destination addresses perform?

61. What are the two types of filtering that provide some control over internetwork traffic and can offer improved security.

62. What are the two primary reasons for segmenting a LAN?

63. With what devices can LAN be segmented into a number of smaller collisions domains?

64. Can bridges and switches reduce the collision domain and broadcast domain as well?

65. What devices do not forward broadcasts unless programmed to do so?

66. How Ethernet switching increase the bandwidth available on a network?

67. What is the collision domain?

68. What are the three ways that communication in a network occurs?

69. What is the MAC addresss of all ones in hexadecimal?

70. Review the devices that use cross-over cables and straight-through cables.

